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Section-A 1 e
E L The number QIOTINTTONTT ) eeaiiiiinne. 15 .
(A}  Even number
(B) Rauonal number
LAC)  brrational number
(D)  None ol these
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= Prducr oy reroes of the polynomual 4= 4+ By s
(AL D
By
() g
D) None il these

The pair of linear equantons v+ 2v—=4 =0 and 2v+dv=12=0 are

(AY  Commcident
() Intersecting
Oy Parallel
(1J) ~ None of these
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& s 2A = 2 s A s e when A =
(A 0°
(B)  J45°
(Chr  3(0°

(3 None ol these

5 1M term of the AP, -3, _l? 5 is
(A) 28
(By 22
(C) =35

(D) None of these
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0O, The absCissa of AN pnilll On V<UNIS IS

(A)Y )
(By 0
) | -l

(D) None of these

7. H.C.F. of 26 und 91 is :

(A) 26
ABY 13
(Ch)y_ 14

(1))  None of these
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,iiE“IT"Il: HI

., Gettmg o naniral nunibyey greater than pepo I8 an
(A Impossable event
(B Somple event
A0y Sure event

(D) None of these

g Volume of sphere 15 .

'1

4
(A) R

(D) None al these
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( 0 ]
I ) Discriminant of the quadratic equation . +5_',I'?qq, =10 15
(A)Y 280
« 3y J08
(C} S04

DY None of these

1. Prime factorization of 3825 is 3 x 3 x 5 x 7 % 17, (TruefFalse)

12, The sum aof first (K positive ntegers 18 -

(A} 300501

(B 3IHNNS

(C'y 100100

() None of these
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| : LAl T‘-L "ll,- ;ﬂuhﬂ_l-.ﬂ“? ol R !.I;IUElilI"JI'Lﬂ"I
14 Al

emploe are sumilar i cles cgunlateraly

| & Number Fl .
f bangents  that . can he  deawn  on  the cicle

. T _ my A
n (= IW2 —m, then find iy

¥ = T ; , - - | '
be. o=, 4y =2 v a solutign of cquatiomn 2y —3v=120  (True'Falsen

X

The value of cosee A s dlwavs greater than or equal w L

| True/Falsen
()
S A2 |+ vvsesnns TOor 07 € A S 90°.
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|4 :

Calculate inean of fust 7 even numbers,

N L |
U Wiie the Fovitonglag fiwe evivan ol _lg_"ll"l“rll.'ll tlan

(Ir
Median af 6, 10, 14, I8, 22, 20, 30 18w
“m ] ; ﬁ i
Section-B - 2ach
21 Solve the " - - - i - Tr=2T¢=21 b
c panr of himear equuonons Iv 4+ H4v= 0 and v =2V =o I
>,
-
chimination method.
nl i : L. |
-=. Find the roois of the quudrance equabon 2y° = H-E:H by
¥ - =
lavtoresation,
e 13 - . _
-3, (mven -.4-:-._'H=l—;, calculate wll other thivonometric mtios,
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= Find volune ol sphore o
:l FI o &, l" I‘:Id:lllll. ] ['m

()

Calculate the cury o i o . -
“dsurfice areq of cylhinder of rudius 2 cm and

hepeht 7 cm.

i bind the values of Vo olor which the distance hetween the pomnls

Pi2. =3 and QU0 vy s 10 units,

Or
{ heck whether 'lﬁ =20 (6. 4y and (7. =2y are the vertices ol an
isosceles trangle.
'h. Find a quadrine polynomial, the sum and product of whose zeroes

I
are -.,E and 1 respechivelty.
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Leetlom=0 Fa by

i 4 Pomd e ovesddinates of the pannis v Bl divide the i sg e e

soiming Ai=3, 2 and 2. S oanto fonsr equal pars

. 5 %
<%  Find the arca of a quadrant of a circle whaose circumference 1v —- oI

=4 Prove that the opposite sides of 3 guadnlareral circumscribinz a circle

subtend supplementary angles at the centre of the circle.
()
Two tangents TP and TQ are drawn 10 a cricle with centre O from
an external pomt T. Prove that
ZPTQO = 220P0.
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I 1 P - theide Al Pronduced of 4 et b b bowge vinm ARCD anil

yl
ple intersects U0 ot Foosha, e i
AADNTE < ACHN
, The diagonals ol a quadiilaeral ABCD intersect each other nt e
paml O such tha ﬁ‘g"—%% Show that ABUTD s 4 [rapeziuii.
. prove thal [1+~.."E 1% Errutional.
a, AN AP consists of 30 terms of which 3™ term 15 12 and the 1at =
term 18 'I[];':h Find the 20U erm.
(Ir
Find the sum of the first 12 muluples ’*’!;IE
Turmn OvEr
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R

huffled deck of 5= cards. Fing e
=

3. One card s diawn oo A woll

probabyliey of geiting
(1 A face card -
tnr A spade
Seclion—I2 1 ey

35, A tsun travels a distance of 480 km at a umiform speed. 1T e speeg

had been 8 kmv/h less, then it would have taken 3 hours maore g

cover the same distance. Find the speed of the train.
(r
Find the valee of K so that the quadratic equation Kxiv =21+ 6=1)

has eguil roots.
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em and radigs R ¢ . . L
fpl} 1M YN Find ghe mass of the puole. given that | cm

Cjron BAS  APPION M el.
Al 2 Nately 52 Maas, (Use =114}

(I
From a sohd cylinder whose heioht is 24 cm and diameler | 4 em.
h-l I,:ﬂﬂil::{]-1 Lllll‘-it:?. l‘f I.TIE' f‘un‘.l: hE--IErhI l:iﬂ.l:l .!L:.imc- di"mﬂ[tr II:'! 11‘11.I|H’tﬂﬂ

out. Find the ol suiface area of the remaming sohd to the nearest o

£m--
s From the top of a 7m high building. the angle of elevation of the

wp of a cable tower is 607 and the angle of depression of its ool

i« 357, Determine the height of the tower.
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Evaluane -

b

i k, - P of =
S ems T 607+« 4 see” 307 1an” 43
| i + 5
| !-nurl:_'il'l““’ﬂ-l:"n:i'._ﬂfﬂ
-: [l

Prave the dentiry |

¥
=25 K
sl sin £ — tan B

Icos U —cosb
3. If a lindintersects sides AB and AC of 2 AABC al [} and F
respectively and is parallel o BC. prove thal

AD  AE
AB  AC

O
A vertical pole of length 6 m casts a shadow 4 m long on the ground
and ot the same time a tower casts i shadow 28 m long, Find th:

hercht of the tower.
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i I the median of the distribunon swven below is 28 5. find the value

ol © and

- ' g— __-————______ . _________———

Class Interval

Frequency
———— -_ TR

(=11 5

1{1=21) o

=310 )

10 | 5

=[)=>10) T
S-60 5

. -'—I"nl al . 'ﬁhﬂ
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